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N = ZaAEE | R N = ZozEE ) R

o= (ng/100g) (9/100g) o= (ng/100g) (g/100g)
(el E) 2,247.5+33.3 — TR (M) 112.8+£32.6 4.1
=X 161.1£72.5 e ) 107.4+27.3 7.5
72|10 122.3+3.9 0.4 HET[(ExE) 102.9+13.9 13.3
HI|(F2A) 120.0+1.9 13.6 Z0{ (M) 93.7£12.1 4.1
E7|37] 99.5+8.4 4.9 S (HIAZE) 91.8:£24.1 1.1
(A 93.9£1.9 0.8 E2H4) 91.6+6.9 2.9
E(az7|) 72.6+5.0 — 2hof (4) 89.1+44.1 5.8
Heix 7| 68.3+8.4 — 12| (44) 88.4+3.8 0.5~1.0
D5 - S4) | 64.2£1.7 6.8 CH(44) 77.4+22.7 0.5
48 61.0x4.4 19.3 7R (M) 73.7£5.7 0.8
IR - 4| 60.4£5.3 6.8 =0{(4) 73.2+3.8 4.1
x| 17| (24 59.7+9.0 45 Hof2)(4) 71.9+8.2 9.1
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Al = Ze|AHE Xt Al = ZArEHE x|t
(mg/100g) (g/100g) = (mg/100g) (g/100g)

SX| 17| (A4 66.3+8.7 25.6 SH| (M) 68.4+9.0 6.0
17|, U, RE 54.8+18.8 4.5 Ho{(M) 67.5%2.7 3.0
opm7|(4kz7) 52.9+4.2 8.0 Srfe) (M) 66.7-6.9 07
|5 - AEl) | 52.9+26 46 w7 H(A) 54.3+4.9 —
7|5 - @x) | 52.5+4.6 12.8 0] (4) 54,2429 1.9
A7) (31 - 2R 50.9+3.9 3.6 MCH(A) 49,5420, 1 1.1~1.2
A7) (32 - oH) 49,1458 1.9 TEO|(EHE) 46.7+26.7 6.2
A7) (32, M) 487426 5.6 FHoj (44) 31.040.7 27
A1 - RE 47.243.7 12.9 EEOIRAAIK 13.9409 6.9
|32 B5) | 455404 6.7 SRR 397.045.3 0.7
M| 34.1£0.8' — SEMS(Z) 379.6:+133.1 6.9
41| 32.4+32 14.9 A (Thst - A) 296.1+3.0 0.6
(el - 25 2eo|(ExH) 141.6221.2 26
n|EE(YE) 24.2+9.4 16.4 M (3t - ) 112.0+8.7 0.8
ZEI(RAE) 1,201.0£75.7 6.6 M HU(dS) 41.8%5.0 0.4
Eoj(z - ci2l) 1,106.0£111.4 — ghAH(AK) 39.440.9 0.9
840{ () 833.8:74.2 8.2 B 3504549 3.0
ool - 25 -4 | 678.8+525 — |5 239.3+935 2.0
e 2EofA 177.6£285 0.9
oHEoj(H - 2E-% | 607.4%18.8 — wel(2ekR) 165.0+42.8 3.2
HH) e 138.5::54.5 26
ChT () 562.9£107.7 0.7 #Ho| 12,7418 4.9
20{(2) 549.3102.0 3.1 oblolx 130.4+36.8 —
BHR|(A) 501.0+41.0 — | 108.8+145 1.2
omEo|(7eA, cial) | 439.1+83.3 — 2(0j2|2%) B4.1421.1 27
N7, B5) | 395.4%74.8 12 A 441458 4.3
SEoY(24) 384.5+20.9 27 o4 %] o1 tr —
x| () 377.820.4 — Qpleh(He 1,348.3126.5 —
ol0{(2) 346.3:103.2 16.0 EETeSED) 630.9+71.1 13.9
Q0| (ZH|E) 33614113 25 QpoH(HH) ND -
Ch7LHEN () 299.8+50.3 - » ABAT : ATookE olgun
FHH| O] (A) 258.4+32.4 —
otolz| (st2ix) 248.6:+47.4 6.7
Hef(eol2) - ) 235.1+8.0 26
7% (=) 201.4+8.7 0.6
410 (M) 200.74.9 0.8
olo}(EH1E) 176.8210. 1 9.7
EAR2] (M) 134.9+5.0 —
HHO{ (M) 1.1
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